Validate

Print

Help

Percentage BoQ

Tender Inviting Authority: Senior Manager

Name of Work: Setting up of stalls for India International Leather Fair-2023,2024 & other events at Chennai.(2 years)

Sub-Head: Providing hanger structure, air-conditioning of temporary structure/hanger structure, stage & stage decoration (on hire basis for fair period)

Contract No:178-ITPO/ROC/C-E/2022-23/110 dated 23.12.2022

Bidder :	Name

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NOTE:-

- 1. The rates should be quoted exclusive of GST as applicable
- 2. The agency should file ECR against ESI & EPF for the individual workers engaged in ITPO & submit the same with bank certified copy, bill, wage sheet & attendance sheet etc. before payment.
- 3. Contractural Labour Act Registration if applicable.

NUMBER #	TEXT #	NUMBER#	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
1	2	4	5	6	53	55
1	Proving aluminum frame hanger structure covered with water proof and fire flame retardant SRF(Shri Ram Fabric or Equivalent) sheet & applied weight should be strong enough to sustain the high speed wind pressure having centre height about 8 m and span from 10 to 30 m as per requirement, front & back covered with water proof and fire retardant SRF(Shri Ram Fabric or Equivalent) sheet duly supported with aluminum diagonal bracings complete with aluminum glazed entry & exit doors, general lighting as per the direction of Engineer-in-charge. (all on hire basis for duration of fair) & the cost of cloth false ceiling will be paid extra. a) Aluminum Structure.	10000	Sqm	255.00	2550000.00	INR Twenty Five Lakh Fifty Thousand Only
2	Providing connecting passage made up with O.C system wall i/c covering with M.S truss resting over the O.C system with ply panel. The roof and the sides of the truss will be covered with good quality waterproof cloth or equivalent & side covering with polychem panels. (on hire basis)	235	Sqm	212.50	49938.00	INR Forty Nine Thousand Nine Hundred & Thirty Eight Only
3	P/F cloth /fabric false ceiling at required height inside the hanger i.e. 14 feet to 20 feet in off-white or approved colour properly stitched from all sides as per the direction of Engineer-in –charge.(on hire basis)	50	Sqm	34.00	1700.00	INR One Thousand Seven Hundred Only

4	Providing & fixing ply wood enclosure partitions made of 4 mm thick commercial ply, necessary soft wood frame and as per existing pattern of stalls (on hire basis)	50	Sqm	170.00	8500.00	INR Eight Thousand Five Hundred Only
5	Providing raised wooden flooring 6" height with wooden battens of required section and using 19 mm thick commercial boards at top including proper leveling fixing etc. complete and as per the direction of Engineer-in-Charge. (On hire basis).	6000	Sqm	127.50	765000.00	INR Seven Lakh Sixty Five Thousand Only
6	Constructions of inauguration stage/other stages of required size about 2'-6"-4-6" height using casurina bullies/steel frame @ 2'-o" c/c vertically, horizontally and also diagonally with 20 mm thick commercial boards on top covered with new synthetic needle punch non-woven carpet of good quality and of required shade, shall be decorated nicely including steps on one sides and ramp on other side.(Note:- For payment only area of stage will be measured) (On hire basis)	2200	Sqft	42.50	93500.00	INR Ninety Three Thousand Five Hundred Only
7	Providing hanger structure with steel frame in the form similar to aircraft hanger covered with waterproof & fire flame retardant sheet like S.R.F (Shri ram fabric or eq.) /G.I. sheet which shall be strong enough to sustain the high speed wind load, centre height about up to 8 m and span from 10 to 30 m as per requirement i/c P/F fabric ceiling with new approved fabric, back & top side covering with fabric of approved quality & supporting frame properly. Complete & as per the direction of Engineer-incharge.(All on hire basis)	150.00	Sqm	255.00	38250.00	INR Thirty Eight Thousand Two Hundred & Fifty Only
8	Supplying VIP cushion chairs (Seat & back) of good pretty condition. (on hire basis, for fair period) & as per the direction of Engineer-in-charge. a) With arms	25	Each	63.75	1594.00	INR One Thousand Five Hundred & Ninety Four Only

8.1	b) Without arms	400	Each	34.00	13600.00	INR Thirteen Thousand Six Hundred Only
9	Supplying mike podium with scratch less lamination/polishing on all over the surface, and with ITPO Logo of good condition as approved by the Architect/Engineer-In-Charge (On hire basis).	5	Each	1700.00	8500.00	INR Eight Thousand Five Hundred Only
10	Supplying centre table of standard size and design and of good condition as approved by architect/Engineer-In-Charge (On hire basis)	6	Each	212.50	1275.00	INR One Thousand Two Hundred & Seventy Five Only
11	Supplying plastic chairs in pretty good condition for inauguration etc. at site including loading, unloading, cartage etc. and as per the direction of Engineer-in-Charge. (On hire basis)	1100	Each per day	8.50	9350.00	INR Nine Thousand Three Hundred & Fifty Only
12	Supplying sofa sets (three Seater, two Seater, and Single Seater) in pretty good condition for inauguration etc. up to three days at CTC site. Complete including loading, unloading, cartage etc. and as per the direction of Engineer-in-Charge. (on hire basis	100	Each seat	425.00	42500.00	INR Forty Two Thousand Five Hundred Only
13	Hire charges for providing air-conditioning facility at different locations in various events (as and when required basis) in CTC complex during the year by using air-cooled package/split air-conditioning units up to 30 TR capacity fire retardant fabrics ducts along with connecting refrigerant piping from outdoor to indoor units, gas charging, internal electric connections complete with installations testing and commissioning of the units in all respects and maintenance of the equipments during the events.	10000	Sqm	276.25	2762500.00	INR Twenty Seven Lakh Sixty Two Thousand Five Hundred Only
14	Hire charges for providing AIR CURTAIN of suitable size complete with installation, testing and commissioning etc. as required in the Entry/Exit gates of the hanger or other sites as per requirement during the fair period complete with connection, interconnection, testing and maintenance during fair period.	5	Sqm	637.50	3188.00	INR Three Thousand One Hundred & Eighty Eight Only

Total in Figures		INR Sixty Three Lakh Forty Nine Thousand Three Hundred & Ninety Five Only			
Quoted Rate in Figures		Select		0.00	INR Zero Only
Quoted Rate in Words			INR Zero Only		